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SN B2AUA
HH: goAuy Aue U
o4 ElsS™Y 23 (e &)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
R =a=-Upl I RPNl 100, 000& = 12CH 1,200
-0 HPAXERZEHI 23,000& *60CH 1,380
— =& A gAY 110, 000& =23 CH 2,530
-2HEE 350,000& = 1CH 350
- 1199 2= &l 1,000,000 *5M E 5,000
-HHZBZYH A, SISHEI 300, 000& *6CH 1,800
-2d=0 HE 2 itexE 672
- 246327 X4l 6,588
NS N == 3,000, 000& x5= *6% 900
0ls . 5U= 1,200,000& *79= *6% 5,688
-S4, HMAR Z2 R X2 300, 000& *4JH 2~ 1,200
-S4 HO0I&E 7 X &2 100, 000& *112CH *6% 672
- nEJK X2 4,800
=M 80,000, 000& *6% 4,800
—2AZFRTANAE R 22 232,033,3303 *6% 13,922
— MAHEH| | X 22l 6,960
— & MCCTVS Xl 22| 5,000, 000& *x4JH 2~ *6% 1,200
-2 7 X6l 17,003
- 119ME 018 HHE=S
250, 000& *5JH 2~ 1,250
- 1O AXEXE HH 2%
300, 000& *38H A 11,400
-3 &H |A2e 250,000& = 190K 4,750
- EHANHALAEY 31,522
204 &2 = ZF H| 261,960 0 261,960
03 SEYRAHI 261,960 0 261,960
OxxxI2Z2ESH| 100,000& 504 = 12& 60,000
Ogs &= 170,000& x99 H x12& 201,960
LgERI 163,362 0 163,362
201 Bt A | 152,962 0 152,962
02 352494l 152,962 0 152,962
O332=2 % HA 20,792
- XS XA 470,000 *2CH *13] 940
-ANSXHEE= 16,833
- XANEHESEAIS 1,056
54 0] & 33,0003 *8CH x23] 528
54 0] 8t 33,000& *16CH *13] 528
- SaXY FLUNEE =5 1,963
=& X 1,083,000& = 1CH 1,083
== Xt 880,000& = 1LH 880
O Xt &k Bt 132,170
-AESE 4,290,000 =2CH 8,580
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SN B2AUA
M EH2A85 A8 25
el BRI Y3 (S &2)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
-SEsE 4,380,000& =2CH 8,760
-85 5,720,000& =3CH 17,160
- 4283 = 3,770,000& =3CH 11,310
-UHEs2 7,470,000& =2CH 14,940
- 22Xt 7,440,000& =4 CH 29,760
- IOXt 3,770,000& *10CH 37,700
— A B XA ACIAFQI & A4 3,960,000 «1CH 3,960
405 XHo&HF S HI 10,400 0 10,400
01 JHAE 2 Z F S H 10,400 0 10,400
OX & Xt LED & & T A X 5,000,000& = 1CH 5,000
OXZE UHINOIE U SHA
900, 000& =6 LH 5,400
AU AI2A 27,620 0 27,620
201 Bt A H| 19,020 0 19,020
01 AP 2t2l bl 5,420 0 5,420
Ogt=2H| 5,020
-0glol HF™=EE DRSS 4,000
—= XA AL 1,020
otx, &9 300,000 #2004 & 600
S LY 420
Osgag 400
—EXABAN AARIRSY
100, 000& 2H+2M £ 2 400
03 A2 H H 13,600 0 13,600
OBIHIH 2 0] Agror™ Al 6,000
OoOM9Ags2U3 5,000
(ORRICEN SRS 2,600
301 LerE A3 8,600 0 8,600
09 HAIAHIBAZ 7,000 0 7,000
OAgtold AL &ILAF 24! 7,000& x150H 1,050
OdltAHIO 2l 0] AgtordM A EHILX S A
5,000& «180Y 900
OFL119t X ME ototdiol 24!
5,000& 800 4,000
O1oAagtsUs &IHAH 24 7,0008 x150H 1,050
11 IIEtE &2 1,600 0 1,600
OSZAE#A Al&S 100,000& x4H x4 2 2 1,600
A8BEXHE2YH 94,495 0 94,495
= 94,495
101 2124 d| 22,051 0 22,051
= 22,051
02 JIEA 2 %= 22,051 0 22,051
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SN B2AYA
E: B2AYUN 29 A5
2 dEUsd" 23 )
2 S 4
SA BB (3H) - NRAY - B Ol &F o4 %@ﬁ 2t
—HIES 1197202 ey
0,000 x24H 480
OZ22d =2 Uacozs o= 1,400
—AAH ASE 100, 000 x7JH A %23 1,400
203 R F & 2,000 2,000
03 AIZH =X 2 F X H| 2,000 2,000
(@FEAS=1ges R 2,000
405 KHoHFE S HI 22,100 22,100
01 XA E B F S| 22,100 22,100
OAEEEXALE CXEI 600
O2ZFTANAEEZ =8 )| ME 1,500
OMEs&HAI R 20,000
Agted 22t 177,732 177,732
= AFAIE A H| 47,132 47,132
401 Al HI L £ 0HHI 47,132 47,132
01 Al& b 47,132 47,132
OSSN HMEH SAAHXH 15,000
O&AF CCTV Xl 32,132
A8t E2L A A2 52,870 52,870
201 LBt Y| 870 870
02 Z2=2=24%4| 870 870
OA&EZ&HI KX Y| 870
= = | 20,000 *87IH A x1/2 870
401 AIEHIZL £ 0HY| 52,000 52,000
01 Al&H| 52,000 52,000
Oastd dAd 4,000,000 504 & 20,000
OASINE B4 2,000,000 *6IH A 12,000
OASN BsE 500,000 1504 A~ 7,500
OHIAASHAX] A X 8,000,000 *1JH & 8,000
OdlatAstEE A 1,500,000& 304 & 4,500
ABAH EE 77,730 77,730
206 M = Hl 43,970 43,970
01 X2 H| 43,970 43,970
O & 2 A &2k R 1,300,000& x5 & 6,500
ogHer=s0tA3 200,000 *30H 6,000
Ogstzs 15,0002 100 &£ 1,500
o192 X A= 20,0003 x4 [H x523] 4,160
O119722 X HEHE NZZ A 65,000 =4 CH 260
O11912 2 X st = 15,000 =4CH x153] 900




SA: 22AUA
Hu: BoAYN LAY s
ool awE 2y (eol:@e)
SN EH - (EH) - HRAY - BES 0] &k o4 il Hl D2
OM9T2H SSHASE
1,000, 000! 4 <23l 8,000
OT9ENTE 23 D& 1,000,000 *17§ £ 1,000
Osdgoy =28 50,0002 *304 1,500
OOt 3 FADIME 80,0002 * 104l £ 800
OLHMN 425 5,000 *3004 1,500
OLFHNE 25= 250,0008! 2% 500
S=EEH NI HE2 2,000 50004 1,000
Ostigls @S XN F 1,350
— 23D 25,0002 x304 750
—oEFEE 20| 20,0002 *304 600
OF%HS JZLYANE 23 9,000
- 23D 25,0009 %2007 5,000
—HSFRHAX 20,0002 *2007 4,000
405 XhaHH S 33,760 0 33,760
01 YU 225 St 33,760 0 33,760
OBHH & & H H] 6,660
-agSA 87,5008 =100 42 3,500
-2 200, 0002 *8CH * 1JH 1,600
~CHISAS R 70,0002 *67 420
S AUElE= 270, 0008 *24 540
- s meE 120,000 *52H 600
OMolot N a2 2 gt 300, 0002 *3CH 900
Ostst= 2o 400,0002! *3CH 1,200
Ouloi BT A 3,000, 0008 *1CH 3,000
Oolotdxng 22 2,000,000 12 2,000
OA9Z28 HA=H I
20,000,002 * 1Kl E 20,000
BHS AL (RSLYA) 5,988, 141 0 5,988, 141
olei 2 ot 5,743,690 0 5,743,690
olet 2oyl 5,743,690 0 5,743,690
101 Q124 | 5,575,390 0 5,575,390
01 24 5,575,390 0 5,575,390
o=3 3,330,158
-AuE 4,347 6002 «1% <128 52,172
-aud 3,929,5008 x32 * 128 141,462
-auH 3,546,2002 112 * 122 468,099
- 29 3,281,300 122 x 122 472,508
-auE 2,809, 1002 +47% * 122 1,584,333
-AYD 2,147,400 142 x 122 360,764
- AEA 1,741,8008 *122 » 122 250,820




2N B2AYA
U HESAAY (FSAYA)
& o 2d|
SA BB O () - NRAY - HES il
o&z=¢ 256,907
O=lz22Y 998,412
- Azt 2 635,636
—-ort2fg 227,730
-5 2fE 135,046
OFSR Eat=y 421,348
-JtEE 93,960
i < Kt 40,000 «86H «12& 41,280
A EHIS 20,0003 x192H 123 46,080
etz 6,600
- ANESHEZY 31,552
sstu 464 ,000&3 «17H 43 31,552
- E2goe3 108,000
25 0] & 130,000 x21H »12& 32,760
- 20~254 0] et 110,000& x30H »12& 39,600
- 15~204 0] ¢ 80,000 « 13 x12& 12,480
- 10~15& 0] &t 60,0003 x13H + 123 9,360
- 5~10 0] ¢ 50,000% «23H x12& 13,800
-RE2fsY 60,000
43 50,000& x100H x12& 60,000
i R R =y 30,0003 «3H 122 1,080
-StMa st 80,000& x100H x12& 96,000
-z 26,060
-2 gRg 4,347 ,6003 *9%*1H 123 4,696
OF U Z A 130,000& 100K x 12 156,000
OHEFOHYI 3,330, 114,000 /12 *120% 333,012
OS2 &l
3,330, 114,000 /122 «86%*1/30% 102 79,553
204 X243 A | 168,300
02 2g 2 Xl 168,300
Ooaed 400,000 1H 128 4,800
OF -0 250,000& «3H + 123 9,000
OFEAS -\ 155,000& x23H 128 42,780
OoLgE 140,000& »47H 128 78,960
OAagn At 105,000 x26H »12& 32,760
Jl=234l 244,451
Jl23Hl 244,451
201 L2 | 89,959
01 At 2t 2|l 86,959
OJle=+=&Htl 13,589
o=zg=¢ 50,900




SA 22AYA
Bu: HESAA (FSAYA)
el Jl=2 3 eEH)
A B O9(SA) - NRANY - BES il 2
-gasd 50,900
OJl=s gl 22,470
02 =224l 3,000 3,000
O332= € HAl 3,000
- REYSEE 250,000& =128 3,000
202 O4dl 59,492 59,492
01 = LH 4 Hi 59,492 59,492
OJl20Hl 59,492
203 YR =2t 36,150 36,150
01 122 YR 8,300 8,300
O NE 4,400,000& 1 4,400
OQotM dlE & 1,300,000 «3H 3,900
02 et =& 4,210 4,210
OZJ A& & 4,210
04 RENSELRZ=LH| 23,640 23,640
O=2etddH 370,000& 100 A +122 4,440
O g et ™ dl g 350,000& 100 2 +128 4,200
OABHE (ISTE UL, S2l HOHHE,
22720 250,000& 501 2«12 15,000
204 MR F | 13,200 13,200
01 MR8 13,200 13,200
OAreNFE 400,000& «1H «12& 4,800
Otz 100,000& 3 122 3,600
OUMHEHE, RS 100,000& x4 «12& 4,800
405 XHoHF S HI 45,650 45,650
01 AL EZFH S 45,650 45,650
OtltIZ=z HME (512 4) 6,000,000 = 1CH 6,000
Oonelrg a=xH 1,400,000& = 1404 19,600
OthIs=&ol 500
O&IIYE 450
Oz 200, 000& 54 1,000
odgd 400, 000& =34 1,200
OWAE FAHA ¢ 1,000,000+ 1H 1,000
OUEg&SEII 400,000 10K 4,000
OFSE=E=Enp) 400, 000& =74 2,800
oags A 500
OSL19UNHEH MREHIS 800
—AIRE M 300, 0002 =174 300
- A28 2 X 300,000& =14 300
-0lsA Mg 200,000 1K 200
OWtEl & 300,000& 54 1,500
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SN B2AYA
B BHSAAL (B2AYN)
ch: JI24dd|
- _ _ RE]
SN EHD B (3H) - MEAY - BAS ol &k o8 %@ﬁ
Qe (Adzet) 1,000
OIZZIH(ME) 600,000 =3CH 1,800
OAMY 700
omA 600
OWHaD 800, 000& *2H 1,600
OHMSII 200, 000& =24 400
OEMZBF2E 200
MEes(82A8A) 32,700
BHEX= 32,700
BMX= 32,700
311 X 20| XFak &t 2,700
05 JIEFXF L 20| KHAHE 2,700
OBE2EAH MF 2,700
HyIRINE 30,000
05 JIEIZ X 2|2 as 30,000
OB2dHAH s= 30,000




